Homework 4

Chapter11.12. :17(withoutpart(c))
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The distance between a point and a line is the length of the perpendicular from the point to the line,



here |PS| =d . But referring to triangle POS , d=|PS| =|QP| sin @=|bsin@ . Butd is the angle
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() a=0R={-1.2.-1) and 5=0P=(1.-5.-7) . Then
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Chapter 12.5.:43

43. Setting x=0 , we see that (0,1,0) satisfies the equations of both planes, so that they do in fact have
a line of intersection. v=n nz=(1_..1,1)>« ( 1,0,1)2(1,0,—1) 1s the direction of this line. Therefore,

direction numbers of the intersecting line are 1 , 0, -1 .



